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1. Put the bracketed verbs in the correct tense, voice and mood forms.

1) has produced 2) has been 3) experienced 4) is 5) will ever witness 6) had
arrived 7) was ushered 8) had been 9) realised 10) was taking 11) introduced 12)
flitted 13) had 14) chose 15) had ever been 16) was 17) is 18) have watched 19)
wouldn’t be 20) hadn't happened 21) was finally interviewed 22) wasn't hired.

2. Use the right article by writing ‘a’, ‘an’, ‘the’ or ‘-’ in the gaps.

Ms Parrot, 1) the most famous lady detective of 2) the twenty-first century, was
born in 3) the United Kingdom in 4) the 1960s. She has been to many countries,
including Portugal, Singapore and Australia, and has lived in 5) the northern
hemisphere and 6) the southern hemisphere, as well as on 7) the equator. Like
Sherlock Holmes, 8) the famous detective, she plays 9) the violin, and sometimes
practises up to five times 10) a day. She has been 11) a detective for thirty years
and claims that although many people think that this job is 12) a piece of cake,
detectives generally work very hard and it’s not all fun and games. Quite 13) a few
of her most famous cases have attracted worldwide attention and she has been
offered up to 14) a thousand dollars 15) an hour to help solve some mysteries.
What 16) a salary! However, she donated 17) the money to 18) the poor, believing
that we should use our skills for 19) the common good.

3. Rephrase the sentences below using the word in bold.

1. He didn’t prepare for his test. He can’t have passed it.

2. You might have written me more often.

3. She must be cooking now, because the guests are coming in an hour.

4. | didn’t have to wear a tie at work.

5. Sue needn’t have bought the cheese.

6. We were to buy a new house before Christmas.
7. She ought to be there by now.
8. The door won’t open.

4. Use the words in brackets to form new suitable words in the provided
spaces.

1. Natural

2. Overpopulation

3. Consumption
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Development
Engineered
Growth
Treatment
Unacceptable
. Existence

10. Alternative

© oo N oA

5. Read the text below and decide which answer (A, B, C or D) best fits in
each gap.

1C 2A 3B 4D 5C 6A 7B 8D 9B 10C 11A 12D 13C 14B 15C

6. The reading passage has six paragraphs, A-F. Choose the correct
headings for the paragraphs from the list below.

A - People have always responded to climate change
B - The relevance of the Little Ice Age today

C - How past climatic conditions can be determined
D — A study covering a thousand years

E — Enough food at last

F - Human impact on the climate
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